
 

 

ITI Computer Operator and Programming Assistant (Python) 
Module  15 Introduction to Cloud Computing & Application 

Development Life Cycle 

 
(1). Which of the storage technologies among the following is have the best performance? | 
िनɻिलİखत मŐ से िकस ːोरेज तकनीक का ŮदशŊन सबसे अǅा है? 

(A) NAS 

(B)   SAN 

(C)   DAS 

(D)   SAD 

Correct Answer : B 

 

(2). Which of the following is the correct statement about cloud computing? | Ƒाउड 
कंɗूिटंग के बारे मŐ िनɻिलİखत मŐ से कौन सा कथन सही है? 

(A)   Cloud computing abstracts systems by pooling and sharing resources | Ƒाउड कंɗूिटंग 
ए̭ Ōːैƃ िसːम पूिलंग और संसाधनो ंको शेयर करके 

(B)   Cloud computing is nothing more than the Internet | Ƒाउड कंɗूिटंग इंटरनेट से Ǜादा 
कुछ नही ंहै 

(C)   The use of the word “cloud” makes reference to the two essential concepts | “cloud” 
शɨ का उपयोग दो आवʴक अवधारणाओ ंका संदभŊ देता है 

(D)   Cloud computing services are accessed by the user only after the software is installed on 
their own device | Ƒाउड कंɗूिटंग सेवाओ ंका उपयोग उपयोगकताŊ Ȫारा अपने िडवाइस पर 
सॉ͆टवेयर इंːॉल करने के बाद ही िकया जाता है 

Correct Answer : A 

 

(3). What does PaaS stands for? | PaaS का Ɛा अथŊ है? 

(A)   Platform as a Service 

(B)   Platform as a Software 



 

 

(C)   Parallel as a Service 

(D)   Parallel as a Software 

Correct Answer : A 

 

(4). Choose the correct IaaS provider among the following. | िनɻ मŐ से सही IaaS Ůदाता चुनŐ। 

(A)   EC2 

(B)   EC1 

(C)   EC10 

(D)   Hybrid 

Correct Answer : A 

 

(5). Website, Server, Internet this are an example of which web hosting? | वेबसाइट, सवŊर, 
इंटरनेट यह िकस वेब होİːंग का उदाहरण है? 

(A)   Shared | शेयडŊ 

(B)   Virtual | वचुŊअल 

(C)   Dedicated | डेिडकेटेड 

(D)   Web | वेब 

Correct Answer : C 

 

(6). Web hosting service where more than one web site is hosted on the same server? | वेब 
होİːंग सिवŊस जहां एक ही सवŊर पर एक से अिधक वेब साइट होː की जाती हœ? 

(A)   Windows Hosting | िवंडोज होİːंग 

(B)   VPS Hosting | VPS होİːंग 

(C)   UNIX Hosting | UNIX होİːंग 

(D)   Shared hosting | शेयडŊ  होİːंग 

Correct Answer : D 

 



 

 

(7). Which of the following provides a runtime environment? | िनɻिलİखत मŐ से कौन एक 
रनटाइम एİɋरानमŐट Ůदान करता है? 

(A)   IaaS 

(B)   SaaS 

(C)   PaaS 

(D)   XaaS 

Correct Answer : C 

 

(8). Which of the following is not correct model in Software Development Paradigm? | 
िनɻिलİखत मŐ से कौन सा सॉɝवेयर डेवलपमेȴ पॉरािडिझम मŐ सही मॉडल नही ंहै? 

(A)   Waterfall Model | वाटरफॉल मॉडल 

(B)   P model | पी मॉडल 

(C)   Spiral Model | सिपŊल मॉडल 

(D)   V model | वी मॉडल 

Correct Answer : B 

 

(9). Which of the following provides the GUI for interaction with the cloud? | िनɻिलİखत मŐ से 
कौन सा Ƒाउड के साथ इंटरेƕन के िलए GUI Ůदान करता है? 

(A)   Server | सवŊर 

(B)   Client | Ƒाइंट 

(C)   Client Infrastructure | Ƒाइंट इंůा ŌːƁर 

(D)   Server Infrastructure | सवŊर इंůा ŌːƁर 

Correct Answer : C 

 

(10). Which one of the following options can be considered as the cloud? | िनɻिलİखत 
िवकʙो ंमŐ से िकस एक को Ƒाऊड माना जा सकता है? 

(A)   Hadoop | हडूप 



 

 

(B)   Intranet | इंटŌ ानेट 

(C)   Web Applications | वेब अनुŮयोग 

(D)   Application | आवेदन 

Correct Answer : A 

 

(11). Who is the father of cloud computing? | Ƒाउड कंɗूिटंग के जनक कौन हœ? 

(A)   Sharon B. Codd 

(B)   Edgar Frank Codd 

(C)   J.C.R. Licklider 

(D)   Charles Bachman 

Correct Answer : C 

 

(12). Which of the following is not a type of cloud server? | िनɻिलİखत मŐ से कौन सा Ƒाउड 
सवŊर का Ůकार नही ंहै? 

(A)   Public Cloud Servers | पİɰक Ƒाउड सवŊर 

(B)   Private Cloud Servers | Ůाइवेट Ƒाउड सवŊसŊ 

(C)   Dedicated Cloud Servers | डेिडकेटेड Ƒाउड सवŊसŊ 

(D)   Merged Cloud Servers | मजŊड Ƒाउड सवŊसŊ 

Correct Answer : D 

 

(13). Which is an organization that sells or leases memory space on its servers. Is typically 
done in a data center, which provides services to clients that enable them to publish websites 
on the Internet? | कौन एक ऐसी सं̾था है जो अपने सवŊर पर मेमोरी ˙ेस बेचती या लीज पर देती 
है। आमतौर पर एक डेटा कŐ ū मŐ िकया जाता है, जो Ťाहको ंको ऐसी सेवाएं Ůदान करता है जो उɎŐ 
इंटरनेट पर वेबसाइटो ंको Ůकािशत करने मŐ सƗम बनाती हœ? 

(A)   Web Hosting | वेब होİːंग 

(B)   Internet Hosting | इंटरनेट होİːंग 

(C)   Domain Hosting | डोमेन होİːंग 



 

 

(D)   Server Hosting | सवŊर होİːंग 

Correct Answer : A 

 

(14). Who should review the detailed design before it is developed? | इसे िवकिसत करने से 
पहले िडटेʒ िडज़ाइन की समीƗा िकसे करनी चािहए? 

(A)   The developer  | डेवलपर 

(B)   The users | यूजर 

(C)   As many stakeholders as possible | िजतने संभव हो उतने ːाकहोʒसŊ 

(D)   The ICT support team  | ICT सपोटŊ  टीम 

Correct Answer : C 

 

(15). Which type of integration testing uses stubs? | िकस Ůकार का इȴीŤेशन टेː ːɵ का 
उपयोग करता है? 

(A)   Top down testing | टॉप डाउन टेİːंग 

(B)   Bottom up testing | बॉटम अप टेİːंग 

(C)   Both in top down and bottom up testing | दोनो ंटॉप डाउन और बॉटम अप टेİːंग मŐ 

(D)   System testing | िसːम टेİːंग 

Correct Answer : A 

 

(16). Which of the following is a type of cloud computing service? | िनɻिलİखत मŐ से कौन सी 
Ƒाउड कंɗूिटंग सिवŊस का Ůकार है? 

(A)   Service-as-a-Software (SaaS) 

(B)   Software-and-a-Server (SaaS) 

(C)   Software-as-a-Service (SaaS) 

(D)   Software-as-a-Server (SaaS) 

Correct Answer : C 

 



 

 

(17). What type of computing technology refers to services and applications that typically run 
on a distributed network through virtualized resources? | िकस Ůकार की कंɗूिटंग तकनीक 
उन सेवाओ ंऔर अनुŮयोगो ंको संदिभŊत करती है जो आमतौर पर वचुŊअलाइǕ संसाधनो ंके माȯम 
से िवतįरत नेटवकŊ  पर चलती हœ? 

(A)   Distributed Computing | िडİ Ōːɯूटेड कंɗूिटंग 

(B)   Cloud Computing | Ƒाउड कंɗूिटंग 

(C)   Soft Computing | सॉɝ कंɗूिटंग 

(D)   Parallel Computing | पैरेलल कंɗूिटंग 

Correct Answer : B 

 

(18). Which type of servers dose Web hosting based on? | वेब होİːंग िकस Ůकार के सवŊर पर 
आधाįरत है? 

(A)   UNIX WINDOWS DOS 

(B)   Dedicated Hosting Shared Hosting VPS Hosting | डेिडकेटेड होİːंग शेयडŊ  होİːंग VPS 
होİːंग 

(C)   Web page Web site Web browser | वेब पेज वेब साइट वेब Űाउज़र 

(D)   Server Web server Webmaster | सवŊर वेब सवŊर वेबमाːर 

Correct Answer : B 

 

(19). What is Debugging? | िडबिगंग Ɛा है? 

(A)   Creating Program Code | िŢएिटंग ŮोŤाम कोड 

(B)   Finding And Correcting Errors In The Program Code. | ŮोŤाम कोड मŐ एरर को खोजना और 
सुधारना 

(C)   Identifying The Task To Be Computerized. | कंɗूटराइǕ होने के िलए टाˋ की पहचान 
करना 

(D)   Creating The Algorithm. | एʎोįरथम िŢएट करना । 

Correct Answer : B 

 



 

 

(20). What is the full form of ADLC? | ADLC का पूणŊ ŝप Ɛा है? 

(A)   Application Development Life Cycle 

(B)   Additional Development In Life Cycle 

(C)   Application Desine Life Cycle 

(D)   Additional Desine Life Cycle 

Correct Answer : A 

 

(21). What is Cloud Computing? | Ƒाऊड क̱ɗूिटंग Ɛा है? 

(A)   Cloud Computing means providing services like storage, servers, database, networking, 
etc., | Ƒाउड कंɗूिटंग का मतलब ːोरेज, सवŊर, डेटाबेस, नेटविकō ग आिद जैसी सिवŊिसंग Ůदान 
करना है। 

(B)   Cloud Computing means storing data in a database | Ƒाउड कंɗूिटंग का अथŊ है डाटाबेस 
मŐ डाटा ːोर करना 

(C)   Cloud Computing is a tool used to create an application | Ƒाउड कंɗूिटंग एक ऐसा 
उपकरण है िजसका उपयोग एİɘकेशन बनाने के िलए िकया जाता है 

(D)   None of the mentioned | उİʟİखत मŐ से कोई नही ं

Correct Answer : A 

 

(22). Which one is not a main type of resources used in cloud computing? | कौन सा Ƒाउड 
कंɗूिटंग मŐ Ůयुƅ संसाधनो ंका मुƥ Ůकार नही ंहै? 

(A)   Private Clouds | िनजी बादल 

(B)   Public Clouds | सावŊजिनक बादल 

(C)   Hybrid Clouds | हाइिŰड बादल 

(D)   Manual Clouds | मैनुअल बादल 

Correct Answer : D 

 

(23). Which of the following cloud deployment are owned and operated by a third-party 
cloud service provider, which delivers their computing resources like servers and storage over 
the internet? | िनɻिलİखत मŐ से कौन सा Ƒाउड पįरिनयोजन एक तृतीय-पƗ Ƒाउड सेवा 



 

 

Ůदाता Ȫारा ˢािमȕ और संचािलत िकया जाता है, जो इंटरनेट पर सवŊर और ːोरेज जैसे अपने 
कंɗूिटंग संसाधनो ंको िवतįरत करता है? 

(A)   Public Cloud | पİɰक Ƒाउड 

(B)   Private Cloud | Ůाइवेट Ƒाउड 

(C)   Hybrid Cloud | हाइिŰड Ƒाउड 

(D)   Private and Hybrid Cloud | Ůाइवेट एंड हाइिŰड Ƒाउड 

Correct Answer : A 

 

(24). What does the RAD software process stand for? | RAD सॉɝवेयर ŮिŢया िकससे संबंिधत 
है? 

(A)   Rapid Application Development 

(B)   Recent Application Development 

(C)   Relative Application Development 

(D)   Rapid Application Design 

Correct Answer : A 

 

(25). What is the full form of SDLC? | SDLC का पूणŊ ŝप Ɛा है? 

(A)   System Development Life Cycle 

(B)   Secure Development Life Cycle 

(C)   Software Development Life Cycle 

(D)   Search Development Life Cycle 

Correct Answer : C 

 

 

 


